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== REEZEIE S RRBE AR NRIR)
ROIRREEH| R R | FY (F R|BE | FH|F K|BRE|FEFYH[F RK|BE|FH|F K
g B g B e B g B
0.0 5.65 5.50 5.50
26 26 5.70 5.68 14.8 5.50 5.50 14.3 5.50 5.50 14.3
2.6 0.0 4.85 5.28 0.0 4.85 5.18 0.0 4.85 5.18 0.0
6.6 4.0 4.75 4.80 19.2 475 4.80 19.2 4.75 4.80 19.2
9.1 25 4.45 4.60 115 4.45 4.60 115 4.45 4.60 115
20.0 10.9 4.50 4.48 48.8 4.50 4.48 48.8 4.50 4.48 48.8

40.0 20.0 4.75 4.63 92.6 4.75 4.63 92.6 4.75 4.63 92.6

45.0 5.0 4.85 4.80 24.0 4.85 4.80 24.0 4.85 4.80 24.0

45.0 0.0 5.0 5.18 0.0 5.50 5.18 0.0 5.0 5.18 0.0

49.4 44 5.60 5.55 24.4 5.60 5.95 244 5.60 5.55 24.4

49.4 0.0 3.00 4.30 0.0 3.00 4.30 0.0 3.00 4.30 0.0

58.1 8.7 3.05 3.03 26.4 3.05 3.03 26.4 3.05 3.03 26.4

58.1 0.0 5.95 4.50 0.0 5.95 4.50 0.0 5.95 4.50 0.0

60.0 1.9 5.95 5.95 11.3 5.95 5.95 11.3 5.95 5.95 11.3

g 60.0 273.0 272.5 272.5
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g2 & 8 g2 & g &
0+ 60.0 0.0 5.20 5.58 0.0 5.20 5.58 0.0 5.20 5.58 0.0
0+ 76.0 16.0 5.30 5.25 84.0 5.30 5.25 84.0 5.30 5.25 84.0
0+ 76.0 0.0 5.90 5.60 0.0 5.90 5.60 0.0 5.90 5.60 0.0
0+ 765 0.5 6.00 5.95 3.0 6.00 5.95 3.0 6.00 5.95 3.0
N Ft 16.5 87.0 87.0 87.0
a_ &t 76.5 360.0 359.5 359.5
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No.3
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A R |XMEER BT H|F B|BE|TH|FE B BE|EH|F B REE|FH|F B
B 8 g 8 g 8§ g 8
0+ 00 0.30
0+ 72 7.2 0.50 0.40 2.9
0+ 20.0 12.8 0.85 0.68 8.7
0+ 300 10.0 0.90 0.88 8.8
0+ 40.0 10.0 0.80 0.85 8.5
0+ 50.0 10.0 0.70 0.75 7.5
0+ 60.0 10.0 0.55 0.63 6.3
0+ 668 6.8 0.45 0.50 34
N 66.8 46.1
a8 i 66.8 46.1
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mO|XMEHER R B | FH | FE B|RBE|EH|FE KB|EE|TETH | T B|EBE| B
g2 & g & g2 & g &
0.0 0.15 0.15
7.2 7.2 0.35 0.25 1.8 0.35 0.25 1.8
7.2 0.0 0.20 0.28 0.0 0.20 0.28 0.0
20.0 12.8 0.50 0.35 4.5 0.50 0.35 4.5
30.0 10.0 0.60 0.55 5.5 0.60 0.55 5.5
40.0 10.0 0.50 0.55 5.5 0.50 0.55 5.5
50.0 10.0 0.35 0.43 4.3 0.35 0.43 4.3
60.0 10.0 0.20 0.28 2.8 0.20 0.28 2.8
66.8 6.8 0.15 0.18 1.2 0.15 0.18 1.2
&t 66.8 25.6 25.6
a_ &t 66.8 25.6 25.6




